B1 Higher tier revision questions

1. Read the extract.

	Super-bug may hit the price of coffee
The coffee bean borer, a pest of the coffee crop, can be controlled by the pesticide
endosulphan However, strains of the insect that are up to 100 times more resistant to
the pesticide have emerged on the South Pacific island of New Caledonia.

For full resistance to be passed on to an offspring two copies of the new resistance allele
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should be inherited, one from each parent. There is much inbreeding with brother-sister
matings happening in every generation, so it takes only a few generations before all the
descendants of a single resistant female have inherited two copies of the resistance
allele.

If this resistance spreads from New Caledonia, it will mean the loss of a major control

10
method. This will present a serious threat to the international coffee industry.


(a)
Suggest how the allele for resistance to endosulfan may have arisen.

.....................................................................................................................................

.....................................................................................................................................

(1)

(b)
(i)
How would you expect the proportion of normal coffee bean borers on New Caledonia to change over the next few years?

...........................................................................................................................

(ii)
Explain why this change will take place.

...........................................................................................................................

...........................................................................................................................

...........................................................................................................................

...........................................................................................................................

...........................................................................................................................

...........................................................................................................................
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